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R o | BT e | B2 | e | e | B2 | BT e | B2 | TR | & | e
’ 100kN/mM%#BZ 5 -l -~ - -|3mEBZ 5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
ZFhst 1.00/0.00 ~ 467 58.19] #h L5t |0.00 ~ 0.00] 1.62 8.18 ZFhLst 1.00] 5.00 ~ 5.00 58.19] #hi4t | 500 ~ 5.00| 1.62 8.18
9 100kN/mM%#BZ % -l -~ - -|3mEBZ 5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
Zhst 1.00/0.00 ~ 7.18 91.36] h L4t |0.00 ~ 0.00] 1.77 8.95 ZFhLst 1.00] 5.00 ~ 9.10 91.36] #hlist | 500 ~ 9.10| 1.77 8.95
3 100kN/mM%#BZ % -l -~ - -|3mEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
Zhst 1.00/0.00 ~ 6.98 88.51| #hList |0.00 ~ 0.00|] 1.65 8.33 ZFhLst 1.00] 5.00 ~ 9.00 88.51| #hli4 | 500 ~ 9.00| 1.65 8.33
4 100kN/mM%#BZ 5% -l -~ - -|3mEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
ZFhst 1.00/0.00 ~ 7.31 93.12| #hbLls |0.00 ~ 0.00] 1.73 8.77 ZFhLst 1.00] 5.00 ~ 9.40 93.12| #hl4 | 500 ~ 9.40| 1.73 8.77
5 100kN/mM%#BZ % -l -~ - -|3mEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ B -~ - - -
Zhst 1.00/0.00 ~ 6.90 87.42| #hLlst |0.00 ~ 6.90| 1.82 9.22 st 1.00] 5.00 ~ 8.60 87.42| #hi4 | 500 ~ 8.60| 1.82 9.22
6 100kN/ Mm% 2 % 1.00/0.00 ~ 1.90 129.20| 3m%E#BZzB| - ~ - - —| 100kN/MZ#% % 1.00| 11.03 ~ 20.02 129.20| 3m%E#BZ % -~ - - -
Zhst 1.00/1.90 ~ 9.68 100.00f Zhlust [ 000 ~ 9.68] 2.53 12.80 ZFhLst 1.00] 5.00 ~ 11.03 100.00f Zhlust | 500 ~ 20.02| 253 12.80
; 100kN/ Mm% 2 % 1.00[{0.00 ~ 237 137.05|3m%EBZz3B| - ~ - - —| 100kN/MZ#% % 1.00| 10.65 ~ 21.78 137.05|3m%E#BZ % -~ - - -
Fhst 1.00| 2.37 ~ 10.16 100.00f x5t [ 0.00 ~ 10.16 2.62 13.23 st 1.00] 5.00 ~ 10.65 100.00f Zhlust | 500 ~ 21.78| 2.62 13.23
8 100kN/m%# 2 % 1.00[{0.00 ~ 247 138.60| 3m%EBZ 5| - ~ - - -| 100kN/MZ#% % 1.00| 10.56 ~ 21.71 138.60| 3m%E#BZ % -~ - - -
Fhst 1.00| 2.47 ~ 10.25 100.00f Zxlust | 0.00 ~ 10.25| 2.66 13.46 st 1.00] 5.00 ~ 10.56 100.00f Zhlust | 500 ~ 21.71| 2.66 13.46
9 100kN/mM##BZ % -l -~ - -|3mEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
Fhst 1.00/0.00 ~ 7.77 99.71| £hbLlst |0.00 ~ 7.77| 2.30 11.60 st 1.00] 5.00 ~ 10.70 99.71] #hi4 | 5.00 ~ 10.70| 2.30 11.60
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Fhst ~ st ~ st ~ st ~
100kN/mM%#BZ 5% ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Fhst ~ st ~ st ~ LSt ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
Fhst ~ ZFhLst ~ ZFhLst ~ ZFhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Fhst ~ st ~ ZFhLst ~ ZFhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Fhst ~ ZFhLst ~ ZFhLst ~ ZFhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
Fhst ~ st ~ ZFhLst ~ ZFhLst ~
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